1. Which one of the fo OWing dey
is wsed for videg games, f :
simulators, training "imulatnu . gnt

iceg

i i nd for
contralling Industriaj fobots?
A. Mouse
B. Light pen
,C. Joystick
D, Keyboard
Rfelr "W, voze ﬁ:ra—égi -

A @ fog Prefafea ¥ Q B owwm
F1 SuE feur ren &2

A, HIGH

8. ¥ge 99

c. g Res

D. #1918

2. Which aré the input. devices that
enable direct data Bﬂl‘? into ::
computer  system  from sour
documents?

K. Data Scanning devices

B. Data retrieving devices

€. Data acquiring devices

D. System Access devices

JoA(IT) B

3. The term gigabyte refersto:
A. 1024 bytes
B. 1024 Kilobytes
. 1024 megabytes
D. 1024 gigabytes

frmrge e @1 el @ 87
A, j0%¢ TFCH

B, 9034 ﬁﬂhﬁi}l

C. Yo3¢ HEIECH

D. 9633 MTEECH

4. Which device use Infrared signal to
operate _or centrol other device
remotely?

A. Remote control

B. Sensor

£ Mouse

D. Touchpad

B A IR LU B e
Hated a1 frifa &) @ R zowie
USC R R o

A. Rl wgke

B. TR

C. i

D.2g itg

3. What is the fu| form
POST operation in com
A. Pﬂ'ﬂl‘El"-ﬂﬂ s’e""TE“
A, Power-On Self-Test
C. Properly-on Self-Test

- Property of System Test

puter?



dgey Rgm 3§ faigad e @
v wg @y &7

A. UTaR 3% Vew v

B. UTaR 3t dew e

C. Whuwel aif dep e

D. Wivdt aifs Ry v

6. Which Computer application scans

text and converts it into a readable
form in a computer?

A. Optical Scanner Reader
B. Optical Marker Recognition

-C< Optical Character Recognition
D. Optical Character evaluator

W wgey

A. Optical Scanner

B Magnetic Ink chara:ter
(MICR)

C. QcCr
D. OPR

récognition

JDAHIFE
8. A Collection of wir
Several
A. Link
B. Bus
C. Cable
D. Port

devices j¢ called -

5 gy Hﬁﬁﬂaﬁﬂﬁ#mﬂiﬁm
aﬂwmmmra?

A. feie

B. 7y

C. Paw

D. 4id

9. Microsoft word is an example of:
A. Processing device
B, Operating system
L. Application software
D. Input device

10. A series of instru:tin

ns
computer what to g and h::a:nt:lls a
called : ©, is
«A. Program
B. Command

C. User response
D. Processor



D. ¥R

11. Which part of the computer
store information?

A< Disk drive

B. Keyboard

C. Monitor

D. Printer

help to

DAL BT B WA GEes B waha
®H § wew wwar &7

A. 8% gEa
B. & ard

C. Hidex

D. fifexr

h

12. Which of the following groups
consists of only output devices?

A. Scanner, Printer, Monitor

B. Keyboard, Printer, Monitor

C. hiﬁjse, Printer, Monitor
B’-"ﬁlntter, Printer, Monitor

Prferfaa 3 @ fre Wi A Saa aTeeye
feargw &7

A. Wy, fifer, AR

B. 3 a1, fiew, Affex

c. 71w, fifex, AR

D. wifew, fifer, AR

13.CD-ROMisa:
A. Semiconductor memory

JOA (IT) B

B. Memory I"EEi:StEI"
. Magnetic memory
D. Optical drive

E e T A R |
A, AiffEgae A9

B. 11 TforeR

c. s 9

p. ddtae §igd

14. Total number of columns in excel
worksheet are ;

A.16184

B. 16284

C. 16384

B’16684

VI e 7 fem ) ae W Prad
eift 82

A. 98 5¢cy

B. 983y

Examg-

15. The brain of any computer system
is:

A.ALU
B. Memory

ccpy

D. Monitor

X f waes Rven @ v @0
87

A TUHY

B. &)

C.¥dryg,

D. Wiftex



16. Regarding a VDU, which statement
is more correct?
A. It is an input device
+ Bl It is an output device
C. It is a peripheral device
D. It is a hardware item

Ny 3 waw N B9 W 5w A0S T
27

A, T (% §ye feass 2

B. 4% (& Jnweye feome 2

C. 9% & tiwve Ragw ?

D, 9% UF gidduy Mzen &

17. The shortcut key ..., i5
used to follow the hyperlink.

A, Ctrl + Space

B. Ctrl + Esc

. Ctrl + Click

D. Ctrl + Enter

vifdwe ol —— smedds w5 @
# oy yarr & oRh 2

A. HEas + Wy

8. HICYS + guwd

c. diflemua + oo

D, WMEHRYH + Tex

18. Which of the following produce the
best quality graphic reproduction?
A, Laser printer
B. Ink jet printer
4. Plotter
D. Dot matrix printer

19. Which of the following storage
devices can store the maximum
amount of data?
A. Floppy Disk
«B. Hard Disk
C. Compact Disk
D. Optical Disk

reffafaa 4 @ o9 W w©ne Rarw
aiftrmas arEr 4 ST Wi w Twar 27
A, geird) &5

B, g8 &

c. wiige &

p. sifdiwd W

20. Which of the following is not an
il'lP'ut dE\'ICE?

A. OCR

B. aptlca! scanner

c. Voice recognition device
coMm (Computer

: Output to
Miﬂ'ﬂﬁtm]
et 4@ BH B 9 By T 22
A, AR
g, S £ Bt

c. diee R Rearg



71, The BIOS is the abbreviatig, of :
Basic Input Output System

g, Best Input Output System

¢, gasic Input Output Symbo|

p. Base Input Output System

forgal vy, e Hila wy &
A i@ TYE ISTYE vy

g. & 399C FNeye fywen
c.ifts §9E aneeye Rraw

p. 39 F1YE IMIeye fhawen

22. Which number system is usually

followed in a typical 32-bit computer?
A. Binary

B. Decimal
£’Hexadecimal
D. Octal

W Rfire 33-fe Fger § amdR ®
9 W v woreh @1 ure fEar Wi
14

A, T
8. 2w
C. ¥R RTe
D. sifeers

23. Properly arranged data is called:
A. Field
8. Words

Mﬂfnnnatinn
D, File

é‘?ﬁmﬂwmﬂﬂﬂw

A s
B oy
C ¥y
D. Wy

JOA(IT) B

24, Which of the following is required
when more than one person use a
central computer at the same time?
A, Light pen

B. Mouse

C. Digitizer

/B: Terminal

w% e | afds quls 0% 8 9Ha W UE
@ HYex B WA HG 8
frifefaa 1 T aEwEE € 7

A, TTFEU

B. ¥

c. fefemax
D. =fifsial

25. Which device can understand the
difference  between data and
programs?

A. Input device

B. Output device

C. Memory

_P. Microprocessor

&1 W SuswY Ter o W @ §ie s
& W wH 27
A. e feams

B. deeye feagy
C. R

D. WIgmHIWER

26. Which of the following is a read
only memory?

A. Floppy Disk
B. ROM

C. Hard Disk

D. RAM



SHIR
Prefifm 3 9 2t @ fg I

27

A, T Faws

B. 3130 0w

C.w1d s

D. Wy

27. Which part of the computer is used

for calculating and comparing?
A. Disk unit

B. Control Unit
.-C. ALY
D. Modem

shortcut key js -
A.Tab + Alt + y
B. Ctrl + Tab « v

C. Ctrl + nElE‘IE +V
. Ctrl + Al 4 v

a7 mwmﬂiﬁm

“*h+m+ﬁ|
n.“ﬁfmm+a-¢+m
E.?ﬁ'rﬁmqa+

feefe 4 &
”'m&‘“WW**mJ,a

29,
Ms'ﬁh::‘:::t €Y to open dialog box in
A F1r
Shift 4 15
Alt+ F1p
D. Ctr) 4 F12
an{'ﬂ“"qﬂ i ST ‘.“Tﬂ ﬂﬂ_ﬂ:‘ l
Aiae aih w2
A Qg
B. Az 4 qggg
C U0 4+ gy

pelling and

Brammar errors by pressing :

A. Shift + F7
B. Ctrl + £y
C. Alt + F7

0. F7

mwaﬂmwtﬁnmﬂmmﬂ
a7

A fwe 4 gy

B.mﬁﬁﬁ+m
E.w-}w_m

D. FH—g9

31. Which unit holds data tem
A. Input unit

B. Secondary storage unit
C. Output Unit

B. Primary Memary Unit

Pﬂrarilv,-?



i peading data is performeg .
magnetic disk by :
), Read/write heads

‘g, Sectors
¢, Track
0. Lower surface

i e, AotE e A s g
5w W 8¢

adie/vEe oH

B, ded

(&L

0. TR THH

3. How many different types of
alignments are used in MS-Word?

A3

B4

Ce

0.2

34 Number of its in ‘EBCDIC <09 '
“Mputing are :

. Eight bits

% Eighteen bits

JOA(IT) 8

C. Twenty-eight bits
D. Seven bits

ey @ R R SamEd W A
few @ W e gl 27

A REH

B. ¢ fAgH

C. 3, faed

D.w fag#

35. Portion of a document in which you
set certain page formatting option is :
A, Page
B. Document
C. Section

-D. Page setup

g @1 g 97 e anea e 0w
wifen sifer de a8, 71 sean &7
A, U9

6. dapie

C. faw=

D, 95 feay

36. Portrait and Landscape are ;
A. Page layout

B. Paper size

E: Page orientation

D. Page colour

Wige ok dvewdy a1 &2
A, 94 drae

B, 9T HIgW

c. &1 aRg2w=

0. U @R



37. One value which is written with 2
mantissa and exponent is called :
A. Exponent
B. Mantissa
C. Base power
B Floating point number

@ o e ok v @ W
forar wrn &, @ weam 27

A, qEEyle

B. Afewm

C. &% TR

D. walfen gige Fax

3B. Short cut key to open new
workbook is :

A Ctrl + F1

B.Ctrl+ N

CCtrie X

D.Ctrl+ P

§ wrdgRaw @ B R wide a5

T 87

A. RS + ywy
B, MERTE + v
C. MIEHNTH +
D. Wiy + @

39. Number system having base 16 are
known as :

A. Whole numbers
_B. Hexadecimal

C. Exponential integers
D. Mantissa

104 (m 4

W 9% el e woreh T TEAR
A. ot

B. RramrRey

Cyrifme gl

D. #few

40. How many Function keys are in Key
Board?

A. 10
“B.12
€. 15
D.16

2 W ¥ Frerd e gt B 82
A. 90
B. %
C. %%
D. 9%

41. EEPROM stands for :

A Electrically Erasable Programmable
Read Only Memory

B. Electronic Erasable Programmable
Read Only Memory

C. Easily Erasable Programmable Read
Only Memory

D. Easily Erasable Programmable
Read/ Write Only Memary

W o Wihiae e s



i which one of the following i -
A anth'il'us'?

i pcAfee

B. mpﬂfﬁk’f

¢ Nimda

p/pand?

43, USer €an USE.wewsevern COMMands
1o search for and correct words in
document.
A.Copy and Paste

& Find and Replace
(. Header and Footer
D, Print and Print preview

!ﬁﬁiﬁmﬂﬁﬁ’lﬁlﬁaﬂ?aﬁtmﬁ
i sedteal f swigE @ WA o
w87

AR o O

BwEE aiv R

Lo 8R wER

0.fre a e

“. Which one of the following
echnology is used in compact D
(cop

A Mechanical

B. Electrical

X Blectro Magnetic
ﬂ. Lis’!f

JOA(IT)B

45, CD-ROM stands for

A. Compactable Read Only Memory

B. Compact Data Read Only Memory
[ Compact Disk Read Only Memory

D. Compactable Disk Read Only

Memory

A —erat & pf w9 7@ 87
A, witaas = e

g, Bhlae <21 918 FAe THE

¢. atde e ds sime 39
p. idtaw fow O e JHd

46. MS Power Pointisa:
Mrmntatiun software
B, Spread sheet

C. Programming Language
D. Word Document

THUY UTR dfge @91 87

A. RIS Wiveda

B. ¥e e

c. Wi s

D. 78 gxIA

47. Full Form of UPS is ;
A. Uninterruptible Power Synchronous
Software

B Uninterruptible Power Supply

C. Universal Power Synchronous
Software

D. Universal Power Supply



A. Fegeeficas T
Bw{iﬁmwﬂ'ﬂ":
C.afavta g R W
D.gfadle U e

48, The shortcut key to align right the
selected text is :
A Ctrl+ L
BCtrl +R
C.Ctrl+)
D.Ctrl+ U

T e @) UET AAE o6 B e
widwe it T &7
A, Hidmd + va
B, YIEIRTS + IR
C. 9IfRTe + o
D. Wiflarya + g

49. High speed Ethernet warks on :
_A. Coaxial cable

B. Twisted pair cable

C. Optical fibre

D. Thick twisted cable

w3 e fouvie e w 3w w0
A BIVTaE Bad

B. Raws dyw daw

C. s B

D. 7Y Rawe Baw

50. SATA port is used in :
A. Scanner

B. Monitor
C. Keyboard
/P- Motherboard

J'DAUT}E

THEEN (wier) oI @1 wudh e fy,
far amar &2

A. T

B. Wiffiey

C. 3! ard

D. Weward

51. In which generation of Computers
the networking like LAN & MAN
started?

A. Second generation

8. Third generation

C. Fourth generation

D. Fifth generation

waex @ v @ 4 gaorE @R we
w1 S Aeafr B ywemr geg?

A. st Bt

B. et 9t

c. et B

D. Wi Ot

52. Short cut key to close a workbook

i5:
AACtrl + W

B.Ctrl+P
C.Ctri+V
D.Ctrl+C

el Srigfem B @@ w2 virdwe
&l = &7 "
A.%anq.gq

8. Mavya +

C. ¥idms + §

0. ¥ty + &



which of the following is main

3 aent of multimedia?

0. Hasﬂﬂtif tape

e ¥ 0 B TSR 37 g
W%

A

p. 7% 6@

¢ 7 B

0. drife® 29

54, Which of the following is an audio
output device?

A Microphone

JB. Speaker

C. Monitor

D. Printer

S 4 4w v sl aeege RA
&

A TEHIBIA

B. #iaR

C AR

. fiex

55. Which file format cannot be 3497
'0a Word document?

A png

JOA(IT)B

g. ofrofl
c. SIS
p. SNAETE

56. Full form of LCD is !
Aliquid Crystal Displays
8. Liquid Crystal Data
C. Liquid Chrome Data
D. Liquid Chrome Displays

vadid & quf w9 @ 87
A, fafrae e e
p. farfdus e <ol

c. fafag ® S

p. fiftae wm feeau

57, Which one of the following folders
is an intermediate storage for deleted
files?
A. Documents
B. Downloads

AC. Recycle Bin
D. My Computer

e § @ @1 W weey e g wEe
@ forg wead! siewwr e 87

A. SIEICH

B. SISTagH

c. Remdwa &=

D. AW HIYER

58. Short cut key to delete a file
without allowing it to store in recycle
bin is :
A. Delete

8. Shift + Delete
C. Ctrl + Delete
D. Alt + Delete

11



ga, The file system “NTFS” stands g,

A New Type File System

B, Never Terminated File System
deﬁew Technology File System

0. Non Terminated File System

qige ReeH TIEINHUE &1 3 aur 7
4, 7| TY BrEd fen

g, 4w efFics wige Riew

¢, 7 el wige Riwew

0, =es wige Riven

65. Network Interface Card (NIC) is
generally used for :

K Connectivity

B.Programming

C. Printing

D. Deleting

F Jevdn wd () IR T
S R g fsar i 87

A Ffefd

B. 5Py

C R

0. fashifey

%. Select all the text in MS word
ﬁm.'u""’ﬂ'l‘li|:'|'5|f:

Altrl+s

B.Ctrl 4 ¢

Citrsp

JOA(IT) B

-ﬁri.':trlm

e @€ gy § R oRe @ 9
o gR1 T e 87

A. HIEeRTe + TS

B, Hieemge + 1

¢, fduRyd + 8

D. TR + §

67. In copycon command, con stands

for what?
A, Control
B. Console
C. Contrast
0. Contents

i Fare § Fi7 FT woed 9] 87
A BEIE
B, HH

C. B
D. weeH

68. Which one of the following bars
appear at the bottom of the computer
desktop?

A< Task bar

B. Tool bar

C. Title bar

D. Menu bar

Frt 3 9 @l W AR e et W
) frard 3 &

A TS TR

B.qH &

C. TIgcd &N

D. 7%, aR

i3



69. Who was the leader of Dhami
movement in Himachal pradesh?

A. Swami Parmanand

B. Mahatma Gandhi

C. Lala Hardyal

D. Bhagmal Sautha

ferad wdw 3 gEY FraleE @ A P
o?

A, =l e
B. WETEN TiH)

C. e BXEuTS
B 9n wen

70, What was the ancient name of
Baijnath?

A. Mahasu
B. Nahan

C. Lokgram
D. Kirigram

gl e I

A. TETE
B. STTEA
C. ST am™

_p. #rmm

71. An action that uses a software to
restart a computer without removing
the computer's power is known as

A. Hard Booting

B. Soft booting

& Cold booting

p. None of the above

JOA(IT}B

DYEY P Y P gey 4 DY F
e’ we) @ foy wivedax &1 W
HRA AT U@ far @) w1 e o 87
A. &8 g

B. Wiz afdn

C. ®ieg gfen

D. ORI # A @F Tl

72. Which one of the following is the
correct shortcut key to restart the
computer?
A. Shift-Alt-Delete
B. Ctrl-Shift-Delete

& Ctrl-Alt-Delete
D. Ctrl-Ait-Shift

waey o dwer 79 @ g P § 9
®1F ¥ w8 widwe gull 87

A, fire + wred) + fRele

. AT + Ave + el

c. SN + e + fEele

D, MERIRTE + wgwe! + fiwe

73. Who among the following
discovered Shimla in 18197
A. Lt. Rose

. Major Keneddy
C. John Lawrence
D. Lord Amherst

Rrfafd ¥ ¥ R g
wra @1 41?

a. diftete. 9

£, AR A

c. wifF &g

p. @i TiEw

Eﬁ%ﬁ‘f&ﬁ



74, What Was the theme of the Worlg
A, Our planet, Our Health
5. Climate Change Matters

[ personal Hygiene and Public

Hygiene
p, Take Care of You and Earth

Qnﬁﬁﬁﬁﬁmﬁaﬂmmﬂﬂﬂ[m?
nﬂﬁmmm

g, Jge A AcH
cmﬂﬂﬁﬂmmma

p. ¥ DT AE Y (e I

75. Swan River (Also called River of
Sorrows) flows through which of the
following districts of  Himachal
Pradesh?

A.Una

B. Kangra

C. Lahaul Spiti

D. Shimla

E"H‘ﬂﬁ%{#gﬁﬂﬁﬁﬂ‘ﬁﬁ'm
) foram o @ PyeforRaa 3 @ BN

s & gy awd) 27
Ve

B. ®hrar
Comte whifer
D. Ry

’6. The group of gighty-four t“-‘"‘ﬂ::
(Chaurasi temples) is located 3t "
Place in Himachal Pradesh?

‘Q'*Paﬂgi

. Oharamshala

. Bharmour

D. Bakloh

et wifed) @1 e (R ARY) e
g @ fae e W Rer 82

A, il

B. EFf9ITel

£. IR

D. ¥HIE

77. Zoji La Pass, connects which Indian
state/UT with the rest of the country?
A. Himachal Pradesh

B. Ladakh

C. Sikkim

D. Assam

aitelten o¥f, fvy s o/ e o
yaw 3 2w @ & ol @ e €7

A. fewrad wdn

B. FgaE
c. fafFsn

D. 3r¥HH

78. Keoladeo National Park is located
in which Indian state/UT?

A. Rajasthan

B. Punjab

C. Madhya Pradesh

D. Maharashtra

BIET T S ARG B e T/
Fe it wdw 4 fug &7

A. TTRIT

B. 4uTTd

_E Tl UeH

D. WIS



79.  “Svanidhi se Samriddhi”
programme is an initiative of which
Union Ministry?

A. Ministry of Home Affairs

B. Ministry of Housing and Urban
Affairs

C. Ministry of Rural Development

D. Ministry of Finance

80. Which Company launched India’s
first fuel cell electric vehicle (FCEV)?
A.Ola

B. Toyota

C. Honda

D. Tata

% w7 NG @1 e §o B e
ares it i &7

A. STE

B. EXater

C. Blen

B, T

81. Which of the following factors are
responsible for coral bleaching?
1. Increased or reduced
temperature

2. Over fishing

3. Increased solar irradiance

4. Changes in salinity

water

Select the correct option from the

codes given below:
A.Only1,2&4
B.Only1,3&4
C.Only2,38&4
D.1,2,3&4

Frrfofen &% @ o @ e v fem
& forg Rstgr &2

9. Wl o & Ifywar a1

2. 3F 5T A qud gEe

3 %41 g8 R R

¥. el § yRed=

9 22 W e 4 W Rew w1 9w
Fiford

A Bqd 9, 3 AR ¢

B.®ae 9, 3 N ¥
C.®ad 3, 33 ¥

D.% % 33Ny

82. Which environmental conditions
would have the highest rate of
transpiration?

A, hot and humid

B. hot and dry

C. cool and humid

D. cool and dry

oy J=aad &)
AT BRIy
g. 7 3l @ A
c. @3 3N Fww
p. 82 3R W ¥



83, Which of the following is NOT "
primary greenhouse gas found jn
earth's atmosphere?

A. Carben dioxide

B. Methane

C. Water vapour

D. Nitrogen oxide

Arafftad § A B9 Al @ awgsea A
7

A, T STEIITIES

. il

p. g ATTHIES

84. Which among the following Acts is
the specific legislation for declaration
and regulation of the Biosphere
Reserves in India?

A. Wildlife Protection Act 1972

B. Biological Diversity Act, 2002

C. Environment (Protection) Act, 1986

D. None of above

ﬁ#ﬁ%ﬁ#ﬂﬂ#{ﬁﬂﬁﬁmHWWﬁ
mmﬁaﬂﬁmwmﬁﬁwﬁ

85. At which among the
places, Asoka had erected
surmounted with four lions?
1, Sarnath

JOA(IT) B

2. Sanchi

3. Vaishali

4, Lauriya- Nandangarh

Select the correct option from the
codes given below:

A Onlyl

B.Only1&2

C.Only1,2&3

D.1,2,38&4

#ﬂ&ﬂ@ﬁﬂﬁmﬁﬁ#ﬂﬂ
ﬁﬁﬁgﬁﬁmﬁﬁﬁﬁﬂﬁmaﬁ

A, Hdd 9
podae 93k 3
c. daet 9, % AN 3
D.9 3 39N

86. During which Gupta King's reign
did the Chinese traveller Fa-hien visit
India?

A. Chandragupta |

B. Chandragupta ll

C. Kumaragupta

D. Samudragupta

ﬁﬂgﬁlwﬁmﬁiﬁmﬁ?ﬁmﬁ
Wﬁﬂﬂ'ﬁwm?

A, BRRTS GUH

B, e B

C. BRI

. TR

17



87. Consider the following pairs of

indicator species with what they
indicate:

1. Stone fly - Air pollution

2. Lichens — Water pollution

3. Mosses — Acidic soil

Which of the above is/are correct?
A.1Only

B.1& 2 Only

C. 3 Only

D.2 &3 Only

ﬁaﬁmmﬁﬁm'ﬁhﬁiﬁﬁaﬂﬂg.ﬁ

wirel 7 fran 5y
‘}.E‘I‘-‘rtﬁ-l‘l"—ﬁ‘lgﬂw

R TEEAE — W Wy

3 AN (B - ansig M
SR A R wh Y W @
A.BEH 9

B. #ad 9 aflv 3

C. Had 3

DA 3 affy 3

Ca

B8. "Ashtadhyayi”, "Mahabhasya" g

“Nirkuta” are related to which of the
following?

A. Music

B. Grammar
C. Philosophy
D. Dance

Prefefaa F @ e wafyg &
A. wifre
B.
c. w3f=
D. 74

JOA (Mg

89. What is the name of India’s first
indigenous physiological parameters

monitoring system for COVID-19
Patients?

A. COVID BEEP

B. COVID sys

C. C13- MONITOR'
D. C19- CHECK

mﬁﬁ?’fﬁlﬁa}%ﬁﬂﬁﬁﬂﬁt@%ﬂ

mmmaﬁﬁvmm
W AT T 42

A. Hifds dig
B. ®ifte fawm

A IS ity
D. ®ifdg 9%

90. In which Organ RBC are sg|

ectively
destroyed/ recycled by macrophages?
A. Spleen
B. Kidney
C. Liver
D. Pancreas

91. What name has beep,
fear of crossing roads?

A. Arthrophobia

B. Atychiphobia

C. Aichmophohia

D. Agyrophobia
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a2, which country has launched j
consultation process for free trade
ralks with India?

A, USA

8. UK

¢. Australia
/p'.'Fram:E
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A, FARST

8. fire=

¢ i
D, BTH

ich
93, Taipei is the capital of wh

country?

A. Taiwan

8. Zimbabwe

C. Saudi Arabia
D. Thailand
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94. Which family is known as the
‘Potato’ family?

A. Solanaceae

B. Fabaceae

C. Cruciferae

D. Liliaceae
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A. Hretit

B/

C. aFited

p. fafege!

95. Which of the following is a highly
contagious viral disease of cattle?

A. Foot and mouth disease

B. Rinderpest

C. Smallpox

D. Ranikhet
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97. Wt wgw 4 e @ W W FE &
A. afiry
B. g
C. g9-g
_ b arar

98. arr B Hyg w1 9E DI
A A R grre @ @ § e
AT AT 9 v e § Tway A9 weEal
w1 R a8 2
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99. Fill in the blanks:
She.....her husband for 15
A.is beating

B has been beating
C. has been beaten
D. beats

in Uteg

100. Fill in the blanks:

The raincomes....... the clouds.
A in

B. near
L from

D. under



